RABEDEFRAREE(ZLEFR)

NABEEKRIZEVWTOERICEBELTVWAHR GFEAFR)ZEHT 516, 2004F1 A1BMS
20081231 BETIZEZMEINT=EHIZDUNT

- SEL ERBLTAFEHEL-EER AT
- SELINICHTEHRLBER ETH

TROEEIZHEST, BHA XKENA BLA. DA ADAADSEERFEREZHEHT D,

I5H "B
1|7T—3Y—X AN AZER
2|t RIEBHI MNADHFE CEEERRIRRI AEHI
IR EM 20044E1 A 1B A 52008412831 BETOEIRB ICEZ B SN i=fEHI
4| R EBGL B. X (Em-ER) . BT, ffi. LB
5| 25— =IREZHRIZ&BHUICC TNMIFHA
(pPTNMZ{E S . pTNMAELMGE S [ TNMZEFER)
6| ERET B AR RF = ZEH2(BfEERZER)
S HALUSNDREEEEHHBTOREEH
|FRRTER | ewsrman
8 EEMEAE A% BB THEOATWRAERERR S X
9 BB EE 100%
0|4 HFEQETESZE |AREFER

(BEFE]

- EFEL, 5-10%EEDREHREAHYET,

" BADEMIL, 1, FEEA. SHHEDAE. TOMBRLIGERDEVILYERRISEVDAT
HDT, BHICERBOBBEZLRTEEE A,

" BUER T ZLEL T, £FERAFVEVSEHTERKEZRIRT L. BLDNTLRVFFEZ
WAORBEMENHYFET

- BIENMEVGE . EFERASSGDERLHYFET .

. E%ﬁ%&ﬂ;@_ﬁﬁ@&péﬁﬁﬂé’—%(%fﬁ?éﬁ’tﬁﬁ'ﬂi\ thDERTHRTASLEY, £EFRT

& o



12. EBDADSFEFE (2004F~20085F)

EEH| SHEARE B4 X D - — . —

= 1085 |[StageI | 95.3%|| 94.9%| 96.2% ® — e
B 715 [Stagen | 67.14|| 55.08|| so.84 | 7 i
x| 370 |Stagem| 40.6u|| 35.48|| 5188 | 7 o

StagelV| 8. 6% 4.9%|| 14.3% K
25 | 76.6%| | 76.1%[|_77. 6% N T e "
BEH| SEEEX S5 || xit 100 [F # ” ——

KI5 | 785 |Stageo| 98.0%|| 98.4%|| 97.3% — o
Bt 433 |Stage I | 94.5%|| 93.5%|| 96.2% B RN T
#| 352 |Stagem | 89.0%|| 90.4%|| 87.5% % ~x o

StageIl | 69.3%|| 59.5%|| 79.8% o —e
StagelV| 9.5%|[ 13.2%[[ 6.1% T 2 Q;‘W " =
el [ 73.0%| |74 1%]|_71.6%

BEH| SEAREER B =i 0

FF 266 |StageI | 43.8%|| 46.3%|[ 40.4% " A\%ﬁ et
Btk 169 |Stagem | 30 2%|| 26 9%|| 37.8% i \*ﬁ I
st o7 [stagem| aeu| aml| eam| | 2 -

StagelV| 0.0% 0. 0% 0. 0% L s o5 o & s
SfEpl | 29.8%| [ 28.6% | 31.9% RS
pEY| SELARER B || & e —

i | 493 |Stager| 64.1%|| 61.34|| 69.6% * \\\, e
| 349 |StageD | 35.6%|| 34.9%|| 40.4% % N - e
wtt| 144 |stagem| 57| cou|| ass| | I o

Stagelv| 2.0%|| 2.1%|[ 2.0% P — — — - -
e [ 26.1%]| 23 7%[|_32. 2% wasn
BEH| SFEHEREE 00— P— = —

2L | 405 |Stage0| 97.3% S I — — oo
| 0 [Stage1| 93.1% i T T
£tt| 405 |Stagel | 98.4% CI e S

StageIll [ 80.3% TE X
StagelV | 16. 6% = ZE ‘%;;& o =
255 [ 90. 0%




	h26result12
	h26result13

